RAINBOW Challenge

Part 2
Can you subtract from numbers up to 100? You have 5 minutes to answer as many questions as you can. If you get 45 or
more you can move on to the next challenge.

76 - 32 = 57 - 24 = 44 - 23 = 66 - 36 = 88 - 35 = 95-23= 68 -31= 75-22 = 59-37-= 54 - 21=
69 - 36 = 99 -47 = 83-41-= 87 - 45 = 79 -54 = 68 - 33 = 96 - 14 - 84 -53 = 94 -42 = 78 - 26 =
73 -51= 88 -43 = 63-12 = 85-52 = 65-23= 59 - 46 = 74 - 54 = 89 -38 = 67 - 24 = 77 - 36 =
45 -18 = 56 - 29 = 83-25= 98 - 48 = 53-37= 94 -70= 83 -47 = 63 -36+= 99 -39-= 71-33=
84 - 56 = 91-32-= 75 -46 = 86 - 38 = 92 -46-= 45 -39 = 83-47 = 70-42 = 85-58 = 96 - 69 =

How many did T get right?

I need fo repeat / try the next level




